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1. Consider the power series Z by(z — 3)™. Assume the series converges for = 5 and diverges

n==0
for z = 0. For each of the following values of z, determine if the series Converges, Diverges, or if
there is Not enough information to tell.

(@) C /DY N:iz=-1 (© C/D /) z=06
®(©)/D/N:a=2 (d) C{DYN:z=8

2. Assume /¢, — 2asn — co. Find the radius of convergence R for the power series > ¢, (z+7)".
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3. What is the Taylor series about z = ¢ for f(z).
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4. . Yesterday we showed the Taylor series about z = 0 for f(z) = €* Z T Use the Ratio

Test to find the radius of convergence R.

nal { , ’
St X n. *
- . - - B Y 40 ) $o {< = >
2. (n49)! x* ntl e
5. E leen = Z:z: for |z} < 1.
n=0
(a) Find a power series representation fo =
in wer series representation for :
. P P 1+ 422
o
? (-4)
h>~o

(b) Find the interval of convergence for the series above.



